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Note: (a) All questions are compulsory. (b) Marks are indicated against each q:ureiB y:
brackets.(c) The candidate is allowed to make Suitable numeric assumpnons wﬁ Eg

Jor solving algorithmic problems.

fractional approach:
I=<ly, I, 13, I, Is>; w= <5, 10, 20, 30,40>; v=x<
The Knapsack has capacity weight = 60, [4] (CO: 4)

ain BES and DFS approaches with an
[1+4] (CO: 3)

Q.2. What are various ways of traversing gra @%%
example of both the approaches. %%‘é%

s analysis: [2*4 = 8] (CO:1,4)

Q.3. Explain the following terms fog
& %

(a) Substitution method ﬁ Sy ftotic notations

(c) Dijkstra's algorithm § 53%»E(d) Cost adjacency matrix

Q.4. What is recurgenc e’f;tlon‘? Explain it by comparing the running time of selection sort and
; th % ™ [1+1] (CO: 2)

merge sort algo
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Q.6. What is Knapsack problem. What are its types? Solve the given problem having weight
capacity w = 3 and number of items are three such that, $=3, Wi=<1,2,3>and v;=<2, 3, 4>
[1+2] (CO: 4)

Q.7. A quadratic algorithm with processing time T(n) = C*n*In(n) spends T(N) seconds for
processing N data items. How much time will be spent for processing n = 10,000 data jtems,
assuming that N = 1000 and T(N) 10 ms? (3] (CO: 2)

Q.8. Solve the Travelling salesperson problem using Greedy approach, What will be &
complexity of Greedy approach here? [4+ )
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